
I.D.:	56473777

cumparare	directa

Data
publicarii

27.04.21 Coduri	CPV 44192000-2

Pretul
estimativ:

4.405,53	RON	-	4.405,53	RON 	 	

Descriere: urub	ng.12*120	2,surub	cap	bombat	M8*100	32,piulita	hibe	plate	M8	4,hex	M8*24*2.00
4,burghiu	metal	cobalt	6	2,surub	cap	bombat	M6*120	4,saibe	plate	6.4*20*1.00	64,piulita
hex	M6	34,galeata	mortar	20	1,furtun	apa	½	10,cot	zn	½	A4	1,conector	furtun	½	1,conector
leg	furtun	1*3/4*1/2	1,prelungitor	3p	3m+intr	1,otel	lat	50*5	8,surub	pt	lemn	cap	hex
8.0*120	18,supertit	3.2*350mm	9.3,disc	flex	230*2.5*22mm	5,folie	polietilena	alb	4.5,cuie
4*100	5,burghiu	metal	cobalt	5	1,burghiu	metal	cobalt	7	1,burghiu	metal	cobalt8	1,tabla
dec	1.25*1000*2000	1,cuie	3*80	5,disc	flex	125*1.6*22mm	17,canal	cablu	15*10adeziv
3.ciment	romcim	40kg	1,tenc.baumit	mpa35/40kg	2,cemplus	frost	7kg,bec	led	value	e27
13w/865	7,bec	led	decor	6w	e14	10,cablu	cyky	2*1.5	4,fala	intrerupator	pt	simplu	1,reflector
led	slim	20w	1,reflector	led	slim	30w	1,fisa	cu	inel	alba	2,surub	pt.gipscarton	3.5*55
20,cablu	myyup2*1.5	15,matura	strada	cu	coada	500	3,coada	unelte	gradina	2,cozi	lemn
3,tije	filetate	m14/1m	1,tije	filetate	m12/1m	2,piulita	hex	M12	16,piulita	hex	M14	8,Saibe
plate	M12*37*3.00	16,Saibe	plate	M14*50*4.00	8,Surub	pt	lemn	cap	hex	8.0*150	12,vinclu
imbinare	105*105*90	8,surub	pt	lemn	cap	hex	10.0*100	26,controler	pt	pompa	1,dop	pp	50
1,banda	izolat.albastru	2,varat	pasta	200g	1,supertit	2.5*350mm	5.12,surub	pal	si	lemn
5.0*80	280,teava	ng	1*32	12,surub	pt	lemn	cap	hex	10.0*60	12,cuie	7*200	3.2,balama
sudabila	28*105	2,bordura	speciala	40zn	245*2000	4,lacat	alama38	3,lopata	zapada	50cm
temad	2,surub	pal	si	le


